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8.
9.

. Please briefly describe the main function of CGI? (5 points)

Please briefly describe the properties of Bluetooth technique. (5 points)

. Excluding the Bluetooth earphone, please imagine and briefly describe ONE possible application

of Bluetooth in the real life. (7 points).

Regardless of what generation of programming language is adopted, all high-level language
programs must be translated into executable code before being executed. Compilation and
interpretation are two different kinds of methods used to develop executable code. Please briefly

describe the process of developing executable code using the compilation method. (5 points)

. What are the advantages of the interpretation as compared with the compilation? (5 points)

How many bytes will it take to store a 3x4 inches, resolution 300 ppi, full-color (24 bits/pixel)
digital image (1KB = 1000 Bytes, IMB = 1000KB)? (5 points)

What does the slogan ' 30 ¥ £ #8848 F 4% |, mean? (5 points)
What does ' 64 43 7018 A& B | mean? (5 points)

What is the size of the addressable memory in the computer that uses 36-bit address bus? (5 points)

10. What is the two’s complement of (01010100),. (3 points)

11

. (1) What is the advantage of the variation of linked allocation that uses a FAT to chain together

the blocks of a file? (5 points)

(2) The FAT scheme, however, may result a significant number of disk head seeks between FAT
and data blocks. Please briefly explain the reason and give a suggestion to avoid this problem.

(5 points)

12. Three programs containing semaphore-operations are shown as the following:

P1() P2 () P3()
{ { {
while (TRUE) while (TRUE) while (TRUE)
{ { {
wait (seml) ; walt (sem?2) ; walt (sem3) ;
/* critical /* critical /* critical
section: | section: section:
CS1 CS82 CS3
* / * / * /
signal (X} ; signal (Y); signal (Z) ;

} , }
J }

(1) If the execution sequence of these three critical sections is CS3>CS1->CS2->CS3->CS1->

CS2..., please give the correct semaphores of X, Y, and Z and the initial values for these binary

semaphores. (5 points)

(2) On a priority-based scheduling system, synchronization mechanisms (e.g., the semaphore) may

cause the priority inversion problem. What’s that? Briefly descript a possible solution. (5 points)




13. What is “Phishing”? How does it affect businesses while we lose control of the growth of Phishing?
(5 points)

14. What is “Dynamic Linking”? And give two advantages while executing programs with dynamic
linking. (5 points)

15. Please explain two differences between IPv4 and IPv6 in detail. (5 points)

16. As compared with the traditional telephone systems, discuss the obstacles to overcome while

applying VoIP on the Internet. (5 points)

17. A F MR 4T B TR F B F % ? (5 points)
(a) BAEMBERAEEETZIXE - (Fl3w - EXESHFERNEEN...)
(b) k&&i# EBFERTAEN -

) BEEARFREXDHANALEZIK L BALETR-

(d) x8EHRE > AEIFIATHIWERNRERSHNEDAH °

() AXEBEM AL T » M HALBRRDEANEH > B KREITIEMBIE
REABTHEFERETS -

18. A A # K& & % #a Router 89 Routing Table 4o F 5% : (5 points)

lﬁ)w [ Destination - Mask [ Metric [ Interface | Next-hop
Network or Subnet . (Cost) _ Router

] 140.131.0.0 1 255.255.0.0 50 2 G

| 2 140.130.0.0 255.25-;_0.0 25 —lz B G

: 3 140.130.203-.0 ) 255.255.2;.0 S ] IT_,OCal

l 4 T | 146.]30.203.0 ] 255.255.255.0 15 2 K
5- | .1_40.130.264.0 | 255.255.252.0 | 20 2 | —-I
6 - 140.130.204.0 | 255.255.255’.’.‘0 10 ] | K

l 7 0.0.0.0‘ B L0.0.0.0 B 25 B 3 ) LH_ .

(1) %M RowsS Fris 2 ey TN » BH LEA S VEIPTHER 7

(2) 35 P Destination Address & 140.130.203.118 &9 3 6,37 LASF Ak £ 1% Row 7

(3) A LA (2) > —4&=< Best Match? A4+ 7

BDRow7 4 BIRHE GEEL R A LRBAEIER)Y

(5) 2% P9 Router “F38E# & 7% % b 2k 89 Row Matching # £ i& $] 100Mbps #9 Throughput ?
(R 3% 518 4 2 K /s 52 100 Bytes)




